Task:

There is a ladder 4 m high which is placed against a wall with its foot at an angle of 30 degrees
to the horizontal. Calculate the force exerted by the wall on the ladder?

Solution:
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Ny + Fp+ F + N = 0.
Noy + Fap + Fy + Ny = 0,

Nay + Frpy + Fy + Ny = 0.

Ny =0, Fapn = Frps Fx = 0, Npy = = N3,
Nay = Ny, Fope = 0, Fy = — F, Ny, = 0.
Fpp—N; =0, Fpy =k N,

N,—F = 0.

kN;-N1=D,N:=%
S _F=0,N; =kF

N;, N, — reactive forces,

E, — force of friction, F — weight of the ladder,

k — coef ficient of friction between the ladder and the floor
Answer:
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